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2015 ££ 12 H
JE 5 AE
S8 HERPRED =Y EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) [FHEEEEN - B/ E(HNREIIREN AR EE)
fokr 2.277 0.00 - 0.07 0.00 &
LA T 1.512 0.00 - 0.62 0.03 =
/b= (HCI) 4,545 0.01-0.36 0.16 s
#ALE (HF) 0.306 0.01-0.12 0.03 s
—A/EWT (SO2) 15.147 0.00 — 7.37 2.29 =
—& bk (CO) 7.578 0.00 — 0.50 0.05 e
HAY) (NOx)
DIZ&/EE (NO2) 30.303 1.01-10.34 3.47 =
SR
(b) |[FHEEEH - HIEE (HEEIIEAARERE)
fohr 0.756 0.00 — 0.01 0.00 e
A e 0.756 0.00 - 0.08 0.03 =
/b= (HCI) 0.756 0.09 - 0.23 0.16 e
FALFE (HF) 0.072 0.02 - 0.04 0.03 s
— A bk (SO2) 3.789 1.72-3.16 2.29 =
—& [l (CO) 3.789 0.02-0.10 0.05 &
HAY) (NOx)
PAZE EE (NO2) 15.147 1.61-7.08 3.45 yoss
SR
S8 HERPRE BER4E R R
(kg/hr) (kg/hr) (&)
() BHEN (R LEREE)
7K 0.003789 0.0003 =
o S SR 0.003789 <0.0012 =
B EEaEm 0.0378 <0.0054 &
TR 7.575 x 10° <6.006 x 1020 =
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2015 ££ 12 H
JE& AF
S8 HERPRED =Y EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) [FHEEEEN - B/ E(HNREIIREN AR EE)
fokr 2.277 0.00 - 0.89 0.01 &
LA T 1.512 0.00 -0.15 0.01 =
/b= (HCI) 4,545 0.03-1.53 0.10 s
#ALE (HF) 0.306 0.00-0.10 0.02 s
—A/EWT (SO2) 15.147 0.02 — 8.56 2.03 =
—& bk (CO) 7.578 0.00 - 0.07 0.00 e
HAY) (NOx)
DIZ&/EE (NO2) 30.303 0.19 - 9.39 2.10 =
SR
(b) |[FHEEEH - HIEE (HEEIIEAARERE)
fohr 0.756 0.00 — 0.05 0.01 e
A e 0.756 0.00 — 0.04 0.01 =
/b= (HCI) 0.756 0.07 - 0.16 0.11 e
FALFE (HF) 0.072 0.02 - 0.03 0.02 s
— A bk (SO2) 3.789 1.69 — 2.37 2.04 =
—& [l (CO) 3.789 0.00-0.01 0.00 &
HAY) (NOx)
PAZE EE (NO2) 15.147 0.73-4.13 2.03 yoss
SR
S8 HERPRE BER4E R R
(kg/hr) (kg/hr) (&)
() BHEN (R LEREE)
7K 0.003789 <0.000159 =
o S SR 0.003789 <0.000031 =
B EEaEm 0.0378 <0.00063 &
IR R g ) 7.575 x 10°° 3.3x 1012 =
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2015 ££ 12 H
JE & BF
S8 HERPRED =Y SEE{E R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) [FHEEEEN - B/ E(HNREIIREN AR EE)
fokr 2.277 0.00 - 0.83 0.01 &
LA T 1.512 0.00-0.73 0.02 =
/b= (HCI) 4,545 0.01-0.87 0.13 s
#ALE (HF) 0.306 0.00-0.13 0.02 s
—A/EWT (SO2) 15.147 0.00 —4.32 1.33 =
—& bk (CO) 7.578 0.00 — 0.06 0.02 e
HAY) (NOx)
DIZ&/EE (NO2) 30.303 0.44 —4.92 1.27 =
SR
(b) |[FHEEEH - HIEE (HEEIIEAARERE)
fohr 0.756 0.00 - 0.23 0.01 e
A e 0.756 0.00 — 0.05 0.02 =
/b= (HCI) 0.756 0.07 - 0.21 0.12 e
FALFE (HF) 0.072 0.02 - 0.03 0.02 s
— A bk (SO2) 3.789 0.78 — 1.69 1.34 =
—& [l (CO) 3.789 0.01 - 0.04 0.02 &
HAY) (NOx)
PAZE EE (NO2) 15.147 0.67 - 3.40 1.34 yoss
SR
S8 HERPRE BER4E R R
(kg/hr) (kg/hr) (&)
() BHEN (R LEREE)
7K 0.003789 EE7K 1: 0.000254 =
% S ST A 0.003789 KA 1: <0.000031 =
B EEE® 0.0378 FEA 1: <0.00079 &
B R e (V) K 1:2.5x 1010
7.575x 10°° Fek 2 <5.128 x 1019 =
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